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Penguin        Readers

1a

1b

2a

2c

3

Complete the family tree. Use the names in the box.

Possible answers:
Positive characteristics: clever, kind, strong, sweet 
Positive/Negative characteristics: nervous, proud, wild
Negative characteristics: angry, moody, lonely, naughty,  
rough, spoiled, strange, stupid, unfriendly, unkind, weak

1 black-haired
2 guest-house
3 housekeeper

1 blowing
2 growled
3 scratched

Mr Earnshaw = Mrs Earnshaw Mr Linton = Mrs Linton

Hindley 
Earnshaw

Catherine Edgar 
Linton Isabella

Heathcliff
= = =

Hareton Cathy Linton Linton

4 landlord
5 wedding ring
6 window ledge

2b 1 landlord
2 window ledge
3 housekeeper

4 black-haired
5 wedding ring
6 guest-house

4 tease
5 betrayed
6 disturb

Who’s in the scene? What is happening? Why is it important?

a
Mr Lockwood and  

the ghost of  Catherine 
Earhnshaw.

She is scratching at the 
window trying to get in.

Mr Lockwood is frightened and he begins  
to understand that all is not well at  

Wuthering Heights.

b
Mr and Mrs Earnshaw, 

Catherine, Hindley  
and Heathcliff.

Mr Earnshaw has just 
brought Heathcliff  home to 

live with his family.

It is when Catherine and Heathcliff   
become friends and Hindley and  

Heathcliff  become enemies.

c
Catherine, Isabella  

and Heathcliff.

Catherine catches 
Heathcliff  and Isabella 

kissing under a tree.

Catherine feels betrayed by Heathcliff.  
He is kissing Isabella because Catherine  

married Edgar and betrayed him.

d
Cathy, Linton, 

Heathcliff  and the 
housekeeper, Nelly.

Cathy discovers that her 
cousin Linton is living at 

Wuthering Heights.

Heathcliff  wants the two cousins to become 
friends and they do. Heathcliff  also wants them  

to marry so that he can have the two houses.

e Heathcliff.
He is walking on the moor, 
visiting Catherine’s grave.

He is about to die and be with Catherine again.

1c Reader’s own answers.

Frances
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1 Mr Lockwood
2 Catherine
3 Nelly
4 Heathcliff
5 Cathy
6 Hareton

1 To Catherine’s ghost, who is trying to get in through the window.
2 To Heathcliff, after she comes back from Thrushcross Grange.
3 To Catherine, about how Heathcliff  will feel when she marries Edgar Linton.
4 To Catherine, because she married Edgar and not him.
5 To Heathcliff, when he invites her to visit Wuthering Heights.
6 To Cathy, when she is teaching him to read.

Reader’s own answers.
 
Model answers:
Mrs Earnshaw was ill and died.
Mr Earnshaw died when he was old.
Frances died after giving birth to her son.
Mr and Mrs Linton die of  fever caught from Catherine.
Catherine died after giving birth to her daughter.
Hindley died through drinking.
Isabella died because she was ill.
Linton died young because he was weak and not well.
Edgar died because he was sad and ill.
Heathcliff  died on the moor in a storm because he wanted to.

Reader’s own answer.

Reader’s own answers.

Reader’s own answers.

4a

4b

5a

5b

5c

6

7


